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Answer either in English or in Assamese

1. Answer the following questions : 1x7=7
OER PT T A
(@) When does Heckscher-Ohlin theory hold
good?
R-9'fo ol fon srfedt =32

(b) Mention any one protective device.
R R @ aft e S 34

(c) What happens if the cost difference is
the same in two countries?

T O A A1 9o 2 =2
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(2)

(d) Write True or False :

(e)

wm 7 ST e
The theory of comparative cost
advantage is based on complete
specialization.

VS IR AR ogl o Refikeas
8o fefe |

What is import quota?

S AAfRe e 59

() What does forward shifting of an offer
curve mean?
GO A AF LA AR @RI
T2

(g9 Name one non-tariff barrier.
9B S5 2lfeqamed 1 forey |

2. Answer the following questions : o2x4=8

e PTYRY Bed ferd

(@) Mention any two gains from
international trade.
SIFOF AT 7 e 751 =71 Ty < |

(b) Distinguish between commodity terms
of trade and gross barter terms of trade.
w99 qM4en 56 W g5 [ e v wrers
{127 o |

(c) Mention two advantages of free trade.
I@ Ml 101 R4 Teas 394 |
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(3)

(d) What was the empirical result of
Leontief’s study?

fermbEs SRR SYfefes Femes & iz 2

Answer any three of the following questions :

o5x3=15

o PR R e fofom Sew for

(a) Discuss the effects of protection policy.
S NS 2SR HCAbA] F4 |

(b) Examine the effects of export subsidy on
an economy.
93 SRS TG TETRAR SR R
<4l |

(c) “The effects of tariff and quota are
equivalent.” Explain.
‘WF AR R deTE e 17
R 411

(d) The domestic cost ratios of two goods
X and Y between two countries A and B
are 5X :10Y and 5X :15Y respectively.
According to the theory of comparative
cost, in which good A and in which good
B will specialize?
7 (7 A S BY R4 TN X W Y I 5
P A DE FE 5X:10Y HE
5X :15Y. A 0 ©F SPiR @Y
A A G I QMRY FHEAS B e
fRe@e3e 3= 2

(e) Explain the concept of single-factor
intensity reversal.
GE-BHm A RARIOYReR e gy,
S
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(4 )

4. Answer the following questions :
oeq ﬁ‘fﬂ‘{ﬂ Taq o
(a) Discuss various effects of tariff. 10
W% 4o AR S 4 |
Or / [l

Define optimum tariff. Explain the
concept of optimum tariff without
retaliation and with retaliation. 2+4+4=10

I wEq RS | [ afSony o aifeeay
Af3e FI WHG 49D T T4 |

(b) “Foreign trade is called as an engine of
growth.” Why? 10
‘e Ao wAfeT RIrR wfem @
71" 599

Or / %471

Explain how factor abundancy is proved
in Heckscher-Ohlin theory.

EHR-AT wEbe T cRfieel (@
1 P €T, AW F41
(c) Discuss the factors affecting terms of
trade of a country. 10
a7 o s 76 genfEe ¥ IReR
ST 41 |
Or / <7

What is reciprocal demand? What does
offer curve indicate? Derive equilibrium
terms of trade with the help of offer
curves. 2+2+6=10
oEeifis oifenl 2 o 392 & e s@ 9
o I@d TR ST IS 56 feee

41 |
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